Question 1
Question text

Which of the following is not a risk in agriculture?

Select one:
a. Cultivation centric risks
b. Agri-logistics centric risks
c. Marketing centric risks
d. All of these are risks

TN

Question 2
Question text

Climate change has increased risks because of increase in which aspect(s) of extreme weather
events?

Select one:
a. frequency
b. intensity
c. duration
d. All of these

D

Question 3
Question text
Risks to the agriculture sector can have an effect on
Select one:
a. Yield
b. Market access
c. Demand, supply and prices
d. All of the above

D



